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1. Let y, and y, be linear independent solutions of x*y"+2xy'+(x—2)y=0. Then the

Wronskian of y, and y, can be defined as W(x)=yy,—yy,. Given y(1)=0,
yi(1)=1, y,(1)=2,and y;(1)=3,find W (x). [88 ’F"l%j[%—’?&\%ﬂ’?lo%]

2

. If u=u(x) and v=v(x) are solutions of Z—):+p(x)§+q(x)y20, then the
x x

Wronskian is defined as W (x)=uv'—vu'.

(a) Show that W'(x) =—p (x) W(x) .

(b) Solve the differential equation W'(x)=—p(x)W (x).

(¢) Show that if W (x,)#0 for some point x, in a<x<b, then W(x)=0 for all
pointsin a<x<b. [88 j‘%[%’iﬁﬂ?@?’? 15%])






